BYMARCEGAGLIA

steel building home products engineering energy tourism services
Barrier: MCG-TE-P4 Compited and checked by: Technical Office,
CLASS P4 ENERGY ABSORBING CRASH BARRIER TERMINAL Marcegaglia Building S.p.A.

007/1285, MCG/EXT-006/1154

Crash test Nos.: MCG/EXT-003/1122, MCG/EXT-004/1123, MCG/EXT-

Homologation certificate: Pending homologation

Drawing: TERMINALE_H2

Reference: EN 1317-1-4

File: InstallazioneMCG-TE-P4

Issued: 01.09.2008

INSTALLATION PROCEDURE — MCG-TE-P4 CLASS P4 ENERGY ABSORBING

CRASH BARRIER TERMINAL

The following prescriptions and indications must be observed when installing the terminal.

1 Layout

1.1 The terminal must be installed so that the outermost reverse surface of the beam

corrugation is offset horizontally by 158 mm away from the carriageway, in a direction

perpendicular to the axis of the carriageway itself, relative to the front surface of the crash

barrier on the outer side of the carriageway onto which the terminal is connected.

1.2 The driven poles must be spaced as specified.

2 Installing the pillars

2.1 The 120x80 mm, 6 mm thick "U" pole (drawing No.: TERMINALE H2_ 1) must be

positioned as follows:

. The top end of the pole is end with the two 18 mm diam. holes for connecting the
thick, L=709 mm detachable tube (drawing No.

100x100 mm, 6 mm

TERMINALE_H2_2);

= The pole must be positioned with the 120 mm side oriented orthogonally respect to

the road, with the open side of the U facing towards traffic;

= The pole must be driven to a depth of 1200 mm.

2.2 The top of the detachable pillars, consisting of a 100x100 mm, 6 mm thick, L=709 mm
tube {drawing No. TERMINALE_HZ2_2) must be connected to the “U” poles using T.T.E.l
M16x50 bolts (drawing No. TERMINALE_H2_8).

Registered seat: via Giovanni della Casa, 12 « 20151 Milang, haly
P VA 01929950200 » Cod. IVA UE ITD1F29950200

Captole sociale Euro 100.000, 00 iv.

Codice Fiscale e Reg. Imprese di Ml 003779210376

MARCEGAGLIA buildtech S.rl.

Administration offices: via Milano, 41 23871 Lomagna, Lecco - Italy

ph. +39.039 9221 00 = fax +3% . 039 9221 830 » 3 buildtech@marcegaglia.com » wwwrmarcegaglia.com

Sales offices:

viale Sarca, 336 - 20126 Milang - lialy

ph. 39 026617 171 ¢ fax +39 02 5617 17 22 » buildtech@marcegaglia com

strada Roveri, 4 » 15048 Pozzolo Farmigare, Alessandria - ltaly

ph. +3% 014377 61 # fax ~3%. 0143 77 63 53 = buildiech@marcegaglia.com

via Giovanni detla Casa, 12 » 20151 Milano - ltaly

ph. +3% 02 30704.1 e fax +39 02 33 402 7C4 = buildtech@marcegaglia.com 1

Vi nfurmanmo che i dati personali da Ve furaiti weraaeo gestiti i sensi del D Dgs. 1960005 Mutels delta privecy)  Copia intgzale delinformation potrd cre visionta sel sto et delbr noston wwietd allindirions wnwanersegsghs con - La sodidti b adutai il
Madello ergaripzativo ¢ di gestione™ex LGS 23172001, Ogw forniore, cliente o partoer ¢ ﬂulndl IoNitn a precdenive Preventlvimente visione sul site wwrr:amﬁxﬁlh cony fersondl data ag prosessed siconding 1o the [talian Legislative Decree L¥6/2003 lFrmcyFrom-

Teen). For Tull iator ination, plesse (ot f 1o wiwwtisrcopagha.com - The company has adopt

the organizatiingl mwwkE purswant 1o e Trsbian 3 ¢pisdative Deceee 23

M Cusigasen, supplior and parines comepanivs A iviled 1ocad the Tol) texe an: wawonarce paglia com



B MARCEGAGLIA

steel building home products engineering energy tourism

Barrier: MCG-TE-P4 Compiled and checked by: Technical Office, Marcegaglia Building
CLASS P4 ENERGY ABSORBING CRASH BARRIER TERMINAL | S.p.A.

Crash test Nos.: MCG/EXT-003/1122, MCG/EXT-004/1123,

MCG/EXT-007/1285, MCG/EXT-006/1 154 Homeologation certificate: Pending homologation

Drawing: TERMINALE_H2 Reference: EN 1317-1-4

File: InstallazioneMCG-TE-P4 lssued: 01.08.2008

2.3 The 60x18 mm vertical slot at the top of the 100x100 mm tube must be orientated
towards the interior of the carriageway, while the 36 mm diam. hole must be oriented

towards the exterior.

3 Installing the spacers
3.1 Bring the 60x18 mm horizontal slot in the spacer (drawing No. TERMINALE_H2_4)

towards the pole, against the 60x18 mm vertical slot in the 100x100 mm tube and connect
the two elements with the T.T.E.l. M16x50 bolt (drawing No. TERMINALE_HZ2_8).
The spacer must be positioned so that the two rows of 30x18 mm vertical slots are

horizontally superimposed.

4 Installing the beam sections
4.1 The terminal element consists of 7 beam sections (drawing No. TERMINALE_H2_5).

4.2 Bring the beam section (drawing No. TERMINALE_H2_5) against the spacers with the
30x18 mm slots (detail C) in the direction towards traffic and fasten with the T.T.D.E.
M16x50 bolts (drawing No. TERMINALE_H2_3), fitting the stiffener plate (drawing No.
TERMINALE_H2_6) on the road side of the beam section.

4.3 The plate must be fitted with the 31° bevelled edge facing the beam section, bringing
the 25x18 mm horizontal slots against the 30x18 mm vertical slots and fastening them
together with the same T.T.D.E. M16x50 bolt (drawing No. TERMINALE H2 3) used in
step 4.2;

MARCEGAGLIA buildtech S.rl.

Administration offices: via Milano, 41 » 23871 Lomagna, Lecco - ltaly

ph. +39 . 039 9221 800 » fax +3%, 03% 9221 830 » a.buildtech@marcegaglia.com * vvwwmarcegaglia.com
Sales offices:

viale Sarca, 336 - 20125 Milanc - laly

ph. 139 026617 174 »fax +3% 02661717 22 # buildtech@marcegaglia com

Registerad seat: via Giovanni della Casa, 12 » 20151 Milano, laly
P (VA 01929950200 » Cad. WA UE ITOI929950200

Capitale sociale Eura 100.000, 00 iv.

Codice Fiscale 2 Reg. Imprese di Ml n°03779410376

sirada Roveri, 4 ¢ 15068 Pozzolo Formigara, Alessandria - ltaly

Fh. +3% 014377 61 s fax <39 0143 77 63 53 * buildtech@marcegaglia.com

via Giovaani della Casa, 12 # 20151 Milano - Italy

ph +39 02 30 7041 ¢ {fax +39 02 33 402 706 » buildtech@marcegaghia.com 2

¥ irfocmuanw che § dati persunali da Ve dyemti veraapa gett ai seat del BLgs. 1952093 (Tatda dlla privacyt Copra integrale Julinformativa poted esscre vininnata sul st isteract Jelasosra socictd sl iz wasonerogrglia com L sinicts ha adwilaie
“Modello orgarizzativo ¢ 8 gestioae™ ex LGS 2312001 Ogni lorafare. cliente o partner ejuludl Imvitzto a prepderpe prevemiviments vis one sul sho wh‘wm:rtcﬁz lia com  Personad data are provessed occording 1o the Italion Legishatiae Decree 156-2003 (I’rl\-a\-rrm:«
B L

tian]. For tull infor mstion, please st e tn wiewmacegaglia cem - The company K adeprg

the ctpanizalion) spsded pursgant 1o e Frafian Degisltive Docree 23

P2 Customer, saprlicr and pastner cnmpanics sre inviled toacad the ull test al wwwenarcegagha com



BPYMARCEGAGLIA

steel building home praducts engineering energy tourism

Barrier: MCG-TE-P4 Compiled and checked by: Technical Office, Marcegagiia Building
CLASS P4 ENERGY ABSORBING CRASH BARRIER TERMINAL | S.p.A.

Crash test Nos.: MCG/EXT-003/1122, MCG/EXT-004/1123,

MCG/EXT-007/1285, MCG/EXT-006/1154 Homologation certificate: Pending homologation

Drawing: TERMINALE_H2 Reference: EN 1317-1-4

File: InstallazioneMCG-TE-P4 Issued: 01.09.2008

4.4 The overlap must be made so that the end of the beam section facing away from traffic
(with the slots shown in details A and B}, overlaps the head of the next beam section, with
the 30x18 mm slots. As a result, install the beam section connecting to the barrier first and
then proceed towards the direction of traffic.

5 Installing the terminal element
5.1 Bring the terminal element towards the spacer, with the bent edge at the bottom, and
connect to the spacer (drawing No. TERMINALE_H2_4) using T.T.D.E. M16x50 bolts
(drawing No. TERMINALE_H2_3).

6 Installing the connector beam section
6.1 The beam section connecting the terminal to the crash barrier consists of a standard

crash barrier beam section connected to the terminal.

6.2 To connect, bring the slots of the connector beam section against the 30x18 mm slots
(detaii C) (drawing No. TERMINALE_H2_5) of the last beam section of the terminal.

6.3 Fasten with T.T.D.E. M16x50 bolis (drawing No. TERMINALE H2 3}, fitting the
stiffener plate (drawing No. TERMINALE_H2_6) on the road side of the beam section.

MARCEGAGLIA buildtech S.r.l.

Administration offices: via Milano, 41 » 23871 Lomagna, Lecco - lialy

ph. +39 . 039 9221 800 » fax +39, 039 9221 83D » a buildrech@marcegaglia.com » vavwmarcegagha.cam
Sales offices:

viale Sarca, 336 - 2126 Milanc - Italy

ph 135 026517 171 » fax +3% 02 56 17 7 22 * buildiech@marcegaglia.com

Registered seat: via Giovanni della Casa, 12 » 20151 Milano, ltaly sirada Roveri, 4 » 15048 Pozzolo Formigare, Alessandria - italy

P VA 01929950200 » Cod. IVA UE 1ITQ1$29950200
Capitale sociale Eure 100.000, 00 iv.
Codica Fiscale o Reg. Imprese di Mi n°03779410374

ph 139 014377 61 = fax -39 014377 63 53 » buildhech@marcegaglia.com
via Giovanni della Casa, 12 ¢ 20151 Milano - italy 3
ph. +39 02 30 704.1 # fax <39 D2 33 402 7G4 » buildiecr@marcegaglia.com

Viitdormisme che a dat prrsansh L Vor S it s tanfa bt ai senst del DL, 19502903 (Tutela della privecy) - Cryua integeale dllinfurmativa pound cocre visinnate sul sto e diils sodra socictd sl indisinae wwwimsregagha com - Ta s ha sz i
“Modello organizzative ¢ Ji gestione” ex DLLGS 23172001, gl formitere, cliente © partpge ¢ juln\h INvit1ed 2 prevderne preventlvamenae visione sil siso www niarcepaglia com  Personal Jata are processed aiconding 10 the Nalfin £ egislative Decree [$6/2083 (Frivacy protes

tievnd For Ball i niation, [esse 1 I i wore marcegaghaem - The company has adopte

the caganieational modcl pursumt 1o e Talion Legislative Docree 231230601 Costomer, supplier and patiner comnpanies< are iwited (o ad the Jull teatal w nw imarccgagha com



PYMARCEGAGLIA

steel building home products engineering energy tourism

Barrier: MCG-TE-P4 Compiled and checked by: Technical Office, Marcegaglia Building
CLASS P4 ENERGY ABSORBING CRASH BARRIER TERMINAL | S.p.A.

Crash test Nos.: MCG/EXT-003/1122, MCG/EXT-004/1123,

MCG/EXT-007/1285, MCG/EXT-006/1154 Homologation certificate: Pending homologation

Drawing: TERMINALE_H2 Reference: EN 1317-1-4

File: InstallazioneMCG-TE-P4 Issued: 01.09.2008

7 Alignment and tightening

7.1 Align all the horizontal elements so that there is a constant distance between the
beams and the road surface;

7.2 Tighten all the bolts with suitable tools (driver tool or tightening wrench) and check the
tightening torque applied with a calibrated torque wrench. Bolts must be tightened in
compliance with regulation CNR 10011/97, to within a tolerance of +/- 10 %.

7.3 Tightening torque must be tested on at least one T.T.E.l. M16x50 bolt (drawing No.
TERMINALE_H2_8) per pole, and on at least four T.T.D.E. M16x50 bolts (drawing No.
TERMINALE_H2_3).

8 Recommended additional measures
8.1 Apply a retroreflective film to the plate at the head of the terminal.

9 ldentification marks

9.1 For installations in Iltaly, homologated terminals must be identified with the name of the
manufacturer and the homologation code (type and serial number). For this purpose, the
terminal is supplied with an identification plaque to be affixed by the installer in a protected
location on the device itself. The plaque consists of an adhesive plate bearing the name of
the manufacturer, the homologation serial number, the terminal class, the terminal type
and its intended use (as defined by applicable legislation).

Rovereto, October '08

MARCEGAGLIA buildtech S.rl,

Administration offices: via Milono, 41 = 23871 Lomagna, Lecca - ltaly

ph. +39 039 9221 800 = fax +39 . 039 9221 830 ¢ a.buildiech@marcegaglia.com » vawemarcagaglia.com
Sales offices:

viale Sarca, 336 - 20125 Milanc - lHaly

ph. 139. 026517 171 ¢ fax +39 02 56 17 17 22 * huildtech@marcegaglia com

services

Registered seat: via Giovanni della Casa, 12 « 20151 Milano, ltaly
P 1va 01929750200 » Cod. VA UE ITO1529950200

Capitale soziale Euro 100,000, 00 i.v.

Codice Fiscale e Reg. Imprese di MI n03779410376

strada Roveri, 4 » 15068 Pozzolo Formigara, Alessandria - italy

ph. +3%.014377 61 ¢ fax +39 014377 63 53 = buildiech@marcegaglia.com
via Giovanni della Casa, 12 » 20151 Milano - ltaly

ph. +39 0230704 % e fax +39 02 33 402 704 » buildtech@marce gaglia.com

4

Yo mlermisnme che 13 persanady da Vs forniti verraeno golli 34 sonsi del PLys. 19503003 (Tusela della privacyd Cagria intgrale didlinfutmativa potrd cnere visioastn sal sto infernet Je b nostra sawicti silindiizeo wwwanoicegaglia cor La sonicti ha aduilre il
Mo dello ergac.izrative ¢ di gestione” ex BLLGS 231 2001 4)gai forpisore, chiente o panoer ¢ .||u|ndi InYILZI0 2 Prerderne preventivimente visione sal sito www maste, aEIh coe Personal Jata arg provessed sseording to Ine liabian Legistacne Decres 1962003 (Privacy
0 Eay i i

thaa). Tor full infmasation, Pease reted i www niargepaglis vom - The company hat adapte

the nrganizational model Fursaaad ta the raling Legialalive Decree 2315w Castorscn, supplce and pretner ambyanics 32 ivited In read Lhe foll sl 2) wa s marcegagl

Irrotcc~
14 Com



